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Aufgabe 1
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
1 2 1 2 2 12
14 3 4 1 11 )
1 5 2 3 13 7
: 1 7
Aufgabe 2
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Erganze.
3 9 1 _ 2 7T _ 7
a) 9= 19 by -3=3 ) 20 =10
1 _ 14 4 _ 12 7 _ 14
)= © 19~ 19 B - 5=1
7T _ 7T 2 _ 4 2 _ 10
8 =10 h) " - 19=19 D =17
I o 15
J 17— 17
Aufgabe 3
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Erganze.
_ 2 1 _ 4 4 _ 8
) 1373 b} 1073 ) 19719
6 _ 12 2 _ 4 1 _ 2 1 _ 2
17 =17 ¢ 5=3 )i -3=3 g 3=3
7 14 3 _ 3 5 _ 5
hy " "13=19 ) -5=1 ) 18=%
Aufgabe 4
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Erganze.
4 8 11 4 8 3 _ 3
a) g =g by r1=3 ¢ "3=g3 ) g=7
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Viel Erfolg!
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